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FOREWORD

Quality curriculum is basic to the educational program in The Howard County Public School
System, providing the structure and the substance of what is taught to all students. The body of
knowledge in any area is virtually infinite in that it is constantly changing and expanding as
“new” knowledge is developed and “old” knowledge is refined. Thus, any attempt to set forth a
definitive curriculum guide has inherent limitations. Nevertheless, it is important that a school
system have a structure for the instructional program that provides direction, focus, flexibility,
and state-of-the-art thinking about each content area.

We recognize that no body of knowledge in any subject area is discrete; knowledge is
overlapping and interrelated. Thus, although there is a curriculum guide for each subject,
curriculum is, and should be, interdisciplinary in focus. Students need to be taught to make
connections between and among disciplines. They also need to understand the global nature of
the world in which they live, respecting and drawing on the richness of a diverse society.
Accordingly, curricula are written so that every child, in every classroom in The Howard County
Public School System sees himself or herself in the materials used and the lessons taught. Each
classroom must reflect its place as a multiethnic, multicultural microcosm of the world.

This guide has been developed by a team of teachers and other staff within the school
system, drawing from the vast body of their collective experience in working with students.
While they share both the pride and the responsibilities of authorship, it is our feeling that this
guide and the others like it represent the essential elements of what education is in The Howard
County Public School System.

Sydney L. Cousin : Robert O. Glascock
Interim Superintendent of Schools Assistant Superintendent
Curriculum and Instruction

Clarissa B. Evans, Director Nancy Metz, Coordinator
Secondary Curricular Programs Secondary Mathematics
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INTRODUCTION

Teachers and administrators in the Howard County Public School System actively encourage
parents and community members to engage in children’s learning. This guide What Students
Should Know When They Begin Pre-Algebra Mathematics — A Summer Guide for Parents and
Students has been developed to assist friends, family, and school system and community
members as a resource in working together to help students reach their full potential.

The booklet has been designed to provide a basic understanding to family and students of the
mathematics knowledge needed by students entering a grade 8 mathematics course. The Howard
County Office of Mathematics recommends that students complete this booklet during the
summer and bring it with work shown to school on the first day of grade 8. Assistance with
the booklet will be provided at the beginning of the school year. Completion of this booklet over
the summer between grades 7 and 8 will be of great value to helping students successfully meet
the academic challenges awaiting them in middle and high school mathematics. These
challenges include

* Quarterly assessments in Prealgebra
* The Maryland State Assessments in mathematics given in grades 8, and 10
* The Maryland High School Assessments given to algebra and geometry students.

Included in this booklet are the following:
* A table consisting of 7" grade Middle School Math II “on -grade leyel” instructional
- objectives with appropriate clarifying examples and cross-references to the Maryland

Voluntary State Curriculum and mathematics problems provided for student practice in
the booklet,

* A set of sample questions emphasizing different objectives from the grade 7 Middle
School Math II curriculum, '

* Answers to the sample questions.

Directions: ‘

* Students are requested to work in pencil and show their work in the booklet or on lined
paper to accompany the booklet. They should check their answers using the key
provided and, if possible, correct the work for problems solved incorrectly. Round
answers to the nearest tenth.

* Sample problems for objectives followed by an asterisk (*) should be completed without
the use of a calculator.

Families are encouraged to use the many resources made available by the Howard County Office
of Mathematics and other community resources. Among these are:

« * The Secondary Mathematics website (http://www.howard.ki12.md.us: 16080/math/ and
click on Secondary Mathematics Internet Resources) has links to dozens of mathematics
related websites containing activities, tutorials, games, puzzles and lists of resources at
every level.

* The Howard County Public Library’s website (http://www.howa.lib.md.us/) allows free

access to Live Homework Help, offering assistance at all levels of secondary
mathematics.




“



GRADE 7
MATHEMATICS
GOALS







-Juads eysiay] Junowe

[e101 9y} pulj 03 uonenbs oYy as() U0 JUIM BUSIY
SOpUI JO JOqUINU 9} = ¥ UYM YGSL + ST = L
uonenba oy £q porussaxdar st | yuads ays junoure

[e103 2], "SOpuI TT UO JuoM ayS "9pu [joe? 10] mh% pue

“spied Juswosnure oY) 03 UOISSTWPE ()SH$ pred eyswy 8

"S[RWID3P pue
suonoely yum swajqold 9A[0s 0} ‘uonewns?

GE— LT qID9 Suipnpour ‘sarderens Ajdde pue 10995 S
- Ay —x9 . ‘ ‘ ;
9T — VT qidi SUOIORIJ PUB ‘S[RBUIIDP ‘SISqUINU Sjoym
:¢ = A pue ¢ = x J0j uoissaidxa oY) yen[esy J quZo\E_ suoissaidxo ore1qage avenjeay  °J
€T Tl P1D9 ‘A1D9 9 ¢ . « "SI9QUINU PXIUWl PUE SUOLORI]
C + Mﬁ PPV aanisod apialp pue ‘A[dpnu ‘Joenqns ‘ppy 3
q1v9 6'SS w0y papuedxa ul ssaxdxg p “wi10j papuedxo Juisn s[ewioap ssaidxyg p
‘uonelou [enuauodxa uisn
1101 BI VO 8¢ :uonejou [enusuodxs uf ssaxdxyg 9 sIoquInu 2joym JuasaIdal pue ‘Qum ‘peay o
¢oxenbs ay) jo suorsuswip « "Swajqoud aA]os 01 sxoquINU JO $100X
6—¢ 2109 a1 aIe JeY A\ soyour "bs [g s1arenbs & Jjovare oy q alenbs pue s1omod ajenojes pue ajewnsy ‘q
(c-01)- AN + $+ y< :suonerado . “suonesado
rAd | 2141 Jo Iopio oy Suikjdde Aq uoissaidxs oy jenfeay B Jo 1opio Suikjdde £q suoissairdxa Apdwig e
J0jed1puy
SOSIISXH mnnoLLm) 101 2]qe 9q [jIm JUIpMIS Y I,
dmnoead els sojdurexy Suifyrre) (s)aAnpdafqQ reUONONIISU]
AIeyjunjoA .

‘swopqoid [eonewoYIRW 9ZA[RUE PUE ‘[opow JuasaIdal 03 AJIfIqe AU AJeNSUOWAP [[Im JUSPMIS Y], (80D

K109y, JoqunN pue ‘suoissaxdxy ‘surdjjed ‘sojqerreA 1 LINQ

STVO09 SOILVINIHLVIN L 3AdVyO




Ly—¢tv

Wy

0 — 8¢
LE ‘9€

qQIVI ®IV1

°1V9

q1o9
qId9

R O B A A
:90uonbas Yora Ul SULIA) ¢ 1X9U Y} ULy Y
“UONBIOU JLJIUSIOS UI OUEISIP
oy} ssaxdxsg yures woly safIw QQ° L St uoow Yy, °f

oL X oL swauodxa jo smef oy Juisn Ayjdung I

01 X 18°¢ =d uonenbs ayz aAjoS Yy

"soouanbos owaw0as 10 onAWIIIe
o[dwis pue suioyjed pusixs pue Aynuapy

*UONRIOU JIJUIIOS Ul sIoquinu ssaxdxyg

"suoissaidxa
Ayiydurs 01 syuouodxa Jo sme] dyl as(y

‘u9} Jo sramod £q ap1alp pue A[dnjny




v | 0T | Sy | Ty | 6¢ | SS | IS
o | s€ | 6C | 8T | 09 | €€ | ST

wko_oa s[q®

‘syreyd pue ‘sydeld ‘sajqe; woiy

8C — S BRIV a1 w1 vIRp JO 198 9y Joy 10[d Jes| pue wdls B Jonnsuo) o | eyep 1oidioyul pue ‘ozATeue ‘Aefdsip ‘oziueSiQ 0
{381e] 00} oIE S9ZIS SSB[O 18}
Ted1ouULL] 9} 90UIAUOD O} 9Sh NOA PNOM ISquInNU YOI\
"S9ZIS SSB[D oY) Jo 9Suel puE ‘Opoul ‘UBIPIW ‘UBIW
oy R[MOLED 6T ‘0€ ‘6T ‘8T ‘61 ‘61 ‘LT ‘€T ‘8T ‘81 1w -ajenidoldde Jsou ST YoIyM SUIULISISP
€G BIVY $9sSB[D 9peId 7, US) JO YOBD Ul SJUPMIS JO JaquInu Y, °q 01 Aouapua} [enuad Jo samseawt aredwo) °q
Ll Auuar
14! BOIN
61 121g
0T Auog,
£C Aoy “-sopeid zmb a2y jo
(44 uery a3uel pue ‘Opowl ‘UBIPAW ‘UBIU
81 ugof oy syemoe) “zinb yew g uo "1os B1Ep ® Jo a3uel pue
S - 8b eZdy 2100§ | Juapm)S | $01008 JO 19S B SMOYS 9[qel 9Y], ‘B |  ‘OpOul ‘UBIPOW ‘UBSWI S)e[No[ed pue Joididju] e
J0jedIpu]
SISIIXH wmnmnLLIm)) 10} 9jqe 39 [jim JUIPMS.AY ],
ERATUB AP | Ne)s sojdurexyy SuidyLre)) (s)2A13d3[qQ rewonoNISUY
AreyjunjoA

‘suonoipaid pue SUOISIOSP YBW 0] EJED 3SN PUE 199[[02 01 A1I[IqE 9y} SeNSUOWIAP [[IM JUSPNIS 3], :[B0D)

sisAfeuy eied 11 LINQN




9 - 19

09 ‘6

eldy

elVY

SYIUOIN
v ¢ 4 |
g B or
ov
09 s1e[jop
| 08 uraoud
UL
SYIUOIA
v ¢ T I
N 08
wm sIejjop
: u1 9oug

001

"uono9[9s ok urefdxs o3 sonewoYlRUl JO

oenSue| oy os() -Burpesjsiu.si ydeid yorgm asooy)
‘porrad yluow InoJ Swies 9y} J19A0 Wiyl Jenonted

® Jo 2oud 2y} juasaidar yoes umoys sydesd oy,

IL| VL oL| €L
€Ll OL| 89| SOll SL| IL| 89| <9
€9 €| 09| sS 19| LS| eS| 79
| syl Ls| es|f | zL| 89| 99

007 ‘[udy €002 ‘1dy

“eJep oy} 10} 10[d Jea| pue widls Jorq-01-yorq B

1o005U0D *HOOZ ‘THdY pue €00z ‘HdV JO s aM oM}

3811} 93 JoJ sarnjeradwal yS1y Ajrep ay) moys so[qel 2y ], 'p

"BIEp JO uoneyuasaidaisiu o
uonejaidiayur A)nej o3 Suipes| si030ej AJRuapy o

'sj0[d Jeo[ pue wals
3}orq-01-)o8q UI BIep Aeidsip pue oziue3iQ P




Xg+el v
XE+T+C1 ¢
CHXE+CT ¢
C—Xe+GC1 1

7 — (X +6)¢ uoissaidxo

‘suotssoxdxa o1e1qage SurAyjduwis
ui sdays Ajnsnl o1 sanadoad feonewayiew

31D9 o Jo uoneordus ay) ur umoys dais yoes Kyusny guisn sdiysuoneyer soqunu Kjdde pue urejdxg  °J
U — Wig + "SIogaul
98 ‘S8 BID9 ' = U pue ¢- = W JoJ uoIssaidxa ay) agenfeaqy -3 Surajoaur suoissaidxoe sjenjeas pue Apduig -9
$8— 0L 2159 (¢-) + ¢1- :uoissardxs oy oyenjeag p| * 193Ul 9pIAIp pue ‘Adnnur 0enqns PPy P
8 T
L O € « "SIogajur pue ‘sjuadrad ‘syewIIoap
<L —69 PIVO ‘819 :< 10 “> ‘= Suisn sIoquinu Jo Ired sy} Ew.mEoU ) SUONOEI] 9qLIOSAP PUE 12Pi0 ‘aredwio) -3
|az - |
89 °L9 2109 :G = q pue ¢- =  10J uoissaidxa oy sjenjesq °q « "S19891u1 JO anjeaA Jnjosqe UIULIAPJ g
99 ‘G9 BID9 "SPIOM UI ZGE— 193Ul Y} AU B 4 'SIoSau1 Jussaidal pue ‘1M ‘Pesy ‘B
J0jed1pU]
S9SIDJOXH wnmoLLIn) :0] 9[ge 9 J[IM UIpnIs 9y I,
onoelrd ANe)s sojdurexyy Suifyrae[) (s)9a1309[qQ [eUONOINIISUY
Axejunjop

-sdigsuonepal 1191 pue szoqumu K[dde pue quasaidai ‘oqLIosap 03 AI[IGE Y} AJeNSUOWIIP [[IM JUSPTIS Y[, :[B0D

sxagayuy :I1I LINN




€
[4
1
Al e-xe | x "Son[eA JO 9[qe)

"K JO onfea ay} spoayje ® U 9[qBLIBA 910 9V} S}O91JB UONOUN] Jeaul|
eI1-0I1 14l X Uy o3ueyd oy} MOy 9qLdseg -o[qel o ajejdwio) °y © Ul 9]qBLIBA QUO UI 93URYD B MOY 9qLIOSI([ '}
601 ‘801 "1+ xp = A uonouny oy} 10§ sired paIopio 1Y) UM 9 ‘sxied parapio se suonouny juasardoy

¢’ % "sonuadoud reonewoyiew
- LOT—86 - ozdl €1= Awuv =a ‘uonenba oY) aAjog 'p | Suisn ojqeireA ouo Yim suonenbs Jesul| 9AJ0S P
12=%,L (9 9=x7 (@) 0T=(L+X)T (¥)
: . “L0C=v1 +XT . ,
L6 ‘96 azdl uonenba a1y 01 Jusfeambs e Juimofjoy-oys Jo Yorgay o % "suonenbo jusreambe Amuspy ‘o
. ,momno_..m_ PIO MOY
"age s _19)8IS S1Y pue a8e §,9310f Ud0MIa]
dysuoneya1 oy syussaxdal jey) uonenbs ue JLIp o
"o8e §,19)S1S SIY 90IM) UBY} 2I0W ¢ SI (s1eak ur) ofe ‘uonenIs pHom-jesl
S6 ‘v6 ezd] s,98Jof ‘sofe 1oy} Surredwiod a1om I9ISIS sIy pue 98Iof *q | e syuasardar yey) uonenbo ue 9A0S pue AN, °q
Iaquinu B S3UIN 4 UBY) SS9 € :Iaquunu ‘sdigsuonejal juasaidai 0y
€6— LS ezdl ‘e1d1 oy se N Suisn sjoquiks orexqagie Suisn ssaxdxg e | sonienbour pue ‘suonenbs ‘suoissaidxs ap, B
Jojedrpuj
SOSIOJIIXH wnnoLLIm)) 101 9B 3q J{m JUIpNIS oY L
ndeayd EX1 TN soidwexy Suifyrrer) (s)eana9lqQ reuonodIngsuy
AxeyunjoA

"$1X9JU00 dnuAYINe [spow Jey) sanifenboul pue suonenbs A0S pue 1M 01 AII[IqE Y} SJRNISUOWISP [[IM JUIPNIS AL :[BOL)

suonounyj pue ‘sonifenbsujy ‘suonenby Surioldxy AT LINA




LIT 911

LI1 911

SIT vl

PIVI

zdl

PIdl

8 =01 +Xg -auI]
Iaqumnu g uo uonnjos ay} ydeid pue Ayjenbout oy aajos 1

1 24— xg¢ Aienbsul o3 3A[0S Y

KX + X¢ — A7 + xg uoissaidxa oy Ayndung 3

"ou1] Joquunu
uo sonifenbaut jo suonnjos ydeid pue Ajnuapy

« "sonuadoid reonewayew Suisn
J[qeLIBA 9UO 1M sanIfenboul 1eaul] A0S

"SULId} 91|
Suruiquios Aq suoissardxa oreiqagdie Ayjdwig




-oue[d 91RUIPIOOD

Scl — €71 21D1 "G + X7 = A uonenbs oy ydein -5 | oy uo wonerado ouo ur suonenba resur ydein o
A
1
(@ ]

a

N , >

g V10

v d

-uiod yoes jo
S9JBUIPIOOD 9} IST] \ 4 -auepd 91BUIPIOOD
21— 611 qID1 ‘q | ® Jjo syuerpenb anoj ay3 ui sired paopio ydein -°q
vy ¢ ¢ 1 0 - ¢ ¢« v
ot
a 9) d v
v_ ‘- “Nm L :s1aquInu SuImofjoj ay3
S ¢ 1
Q11 “LI1 eID] )M sul] Joquiny 9y uo juiod yoes JO 1o A} YOIBN "B "uI] JoquInu e uo sidquinu [euonel ydeln e
Jojedrpuy
SISJIIX ] umjnoLLn’y 101 9jqe aq J[Im JWApMIS 9y,
maead ae)s sojdurexy suifjrer) (s)2A12[qQ reuononnsuy
AreyjunjoA

‘sdiysuoneor ouowinu 9zA[eue pue ydeid ‘oqLIISSp 01 A1I[Iqe 9y} SJBIISUOWISP [[1M JUSPNIS Y |,

:[eon)

sdigsuoneay jo suoneyuasaidey srgders) pue suumN ‘A LINN




[4%!

1€1 —8T1

LT ‘9C1

9Tl

qrdi

BIHC

Qo1

Lr40]!

~ | —

*MO[9q | Io119] oY1 J0j AnounuLs Jo soul] [fe meiq ‘3

*3SIMYO0[OIAUNOD 06 JO

uonwol v 19)ye amgyy oy Jo aSewi ay) pue andiy Yy}
yde1n (p'S)¥ Pue ‘(I'P)O ‘(1°7)d $0MIA ey 2M3Y Y °§

69 000T
8'L9 SL61
L9 0561
99 S61
<9 0061
WS | Iea X

X a1 agueyo oY) M0y 3qUOSa(] "9[qel 3Y) a¥9[dwo) “p

. . oun
ISA0 pual] 9y} $9qLIISIp
1B} JUSWINE]S B UM o
(ySioy ‘reak)
sared paropio a2y} ydein «
"000T 03 0061 WOy Uat
UBOLISWY JO ‘sayoul ul Y31y
a8e10A® 9y} SMOYS 9[qel YL "2

El Ranl L9 1 58]

X-¥

‘K JO anjea 2y} s109)Je

' AIJOWIWIAS [BUONOJ[JAI PUR [BUOIILIOI Ul }[nsal
JeY) SUOTIBULIOJSURT) 9QLIOSIp pue Ajnusp] 3

"SUONE]0I PUE ‘SUONII[Jal
‘SUOB[SURI) SB YOns SUONBULIOJSURI)
Jo synsar oy} Joid pue aqudssq ¥

-yde1d e pue senjea Jo 9[qe) © Aq digsuone|al
Ieaui] e Jo aSueyd JO 9Bl oY) AGUOS3( D

"San[eA JO 9[qe) B Ul
pouasaidal a8ueyd oyl 9qLIOSIP pue Ajnusp] p




01

21D¢€ ‘sjopouwt [eorsAyd Suisn id jewinsg
"3sa101u1 o[duIis pue ‘xe) S9[ES ‘35BIIAP
(Iseraul Suipnpoul “yoeq Ked 03 sary PUE SBaIOUT JO JUd21ad ‘UOISSIUIIOD “JUnoJSIp
€09 9y [[IM yonw MOH ‘Ied siy 10} Aed 03 3sa1oyur ajduurs Surpnjour swajqoxd ppom-[esl 0 syusdsad
091 - 161 ‘a€D9 ‘BED9 %601 T8 S1B3K € IO 000‘6$ SMOLIOq ZoYUag "I 0 pue ‘sayer ‘sonel Jo sydeouod oy Aiddy -9
(U9} 1SaIROU Y} O} PUNOI UB 19 .wwwsﬁvooﬁmwz_ : Ioquinu e Jo jusored surunisieq
0ST - 81 3109 & 1 03 PROLTE SqUIT 9t PULL P
"uON99]3s ok urejdxo 01
sonewaylew Jo agengue] oy} as() "Aouowl 10J Anq 1e19q
o ST YSIYM "00H$ SISOO WBIID 01 SUIes 3] JO oUNO "wisjqoad e Jo 1x91u0o
LT YTV "0S'T$ SISO WIBAId 921 JO UOLIBD 99UNO 9] U 0 9y} Ul SAJBI JIUN PUE ‘SAIBI ‘SONEI QUIIAND( O
{SOINUNU 7 UF UnI 9Ys Ued 199) Auew ‘surojqoid 2A10s 01 sjuadiad pue
91 — bl MOY ‘3]B) JBY1 1Y "SPUODSS ()7 UI 193] (06 Unl ued Aoy q | sreuroap Suiajoaur sojer pue suontodord aspy °q
14 08
— pue —
0c 9
-Suifjipdunis £q 1omsue % ‘Sluao1ad
syl — €€l 21V9 ok moys -juoeamba aie sonel oy Ioyleym [0, v pUE ‘S[RWIOOp ‘sonjel JusfeAInbs suiuLIdle(g B
Jojedipuj
SISNIIXY wmpnoLLImn) ) :0] 3[qe aq [[Ism uapmIs 9y ],
dMmoeiy e)s sojdurexy Suidjrae) (s)aAndalqQO feuOnONIISUY
A1ejunjoA

-juaoiad pue ‘suontodoid ‘sorjes SuiAjoAul
swo[qoid plIom-[eal 9A]0s 0] ASojouyoal pue sa13ajens Juiajos-wd[qold asn 03 AI1fiqe 9y} SJRIISUOUIIP [[IM JUSPNIS Y[, :[805)

U213 J pue Suruoseay] euonaodoid ;YA LINN




Il

g91

91 — 191

qivy

0C Iowung
or suudg
S 19JUIM
ST (uuminy) [18g

ardoad jo JaqumN uoseds

-ydeisd 9[o110 © 1oNIISUOD 0} 3]qe} Y} Ul
eIep oY) 9s() -o[qel oy ul yeadde sasuodsar 1oy §, 189k
() JO UOSBas AJLI0AR] 11213 payse a1am 9jdoad o1 Y

“P1'C =X 9S[] "UMOYS I[O110 Y JO
£oIR PUR QOUSIQJWINDIID oY) purj 8

‘sydeid ajo11o Suisn viep Aedsip pue sziuediQ °q

"9[0I10
© JO BaIE PUE OUMJUNDIIIO Y} U 3




[4!

‘suonenuiad pue sanbruydsyy

vLL — OLT (9081 © 103 dn ouij ajdoad ¢ ueo skem Kuewr mogy o
. Sununos SuIsn $IUAA3 JO SWOOINO QUM 2

{Ppal are yioq ey Ajiqeqord
oyl SIJBYA\ "SBq 9y} WIOLJ PIAOWIDI AIB SO[QIBLU OM .
691 BIgS "8eq ® Ul s9jqIeUl 9N]q S PUE SI[GIBW PAI G I8 AJY ], P "SJU9A3 Juapuadap jo Aujiqeqold ayy puly ‘p

uao1ad e se Jomsue 1no ssaidxg "qn)D B 9q
11 pIed oy Jey Ayjiqeqoid ay) si jeym ‘spreo Suikerd . us01ed 10 “[euoop
307 — 991 RIVS ®IDS JO 99p Areurpio ue woij wopuel je payoid st pred e Jj| o ‘OneI B SE JU9AS Ue Jo Afiqeqoid oy ssaidxg o

‘Tomsue anoK ureydxs o} sonewoyiew
Jo o8engue| sy} 9s) (SPBSH 2q 03 }nsal 3y} 199dx3 nok "Aniqeqoud [eyuswiradxs
801 . $OS ‘€08 | PINOM sown AUet MOY ‘Sawn 97 passol simod e yf -q | PUB K1fiqeqoid [eonaioays Jo synsal areduro) q

[4! iU S[TeL
4! I D SPESH
Kouanbaayg Aqrel auwIodINnQ
 Juswuadxs siyy Jog sjrel Sunies pue ui0o
‘e Sursso) Jo Ajiqeqoid [eruswodxs oﬁ.ﬁcﬂ q
‘s|rel SuIpas pue ulod

e Suissol Jo A)ijiqeqoid [onaIoay} oy} S1IBYA B -£ynqeqoid [eyuswLadyo oy puiy
"Pass0] sem Ulod 0] UOTIB[NWIS 1O JusWLIadX3 Ue 1ONpUOd pue
IL1 - 991 708S ® [OIYM UI JUSWLISAXA UE JO S)NSAI SMOYS 9[qel 9Y ], "B |  1uaAd e Jo AjIqeqoid [eonaloay) oy 191pald B
Jojedipuy
SISIDIIXH wnnLLm)) :01 9]qe 9q []14 JUSPNIS YL
dnoeId e)s sopdurexy suidjre;) (s)aan23{qQ [euonInIsuy
KIeyunjo A

‘suonoipaid ayew
01 seniiqeqoid surULIA)ap 01 SUIUOSEBII [BON}2I0Y] pUE Spoylaul [ejusuwiiadxa asn 03 AJIIqe Sy} SJelSUOLISP [[IM JUIpnIs 9y, :[e05)

Aypiqeqoag Surs() :JIA LINQ




el

so[3ue I0LIIXD
\.hw Q1BUIA)[E JO IR JUQ
» < 57/¢c > sojdue
Surpuodsanio9 jo ared auQ
¢ /v s9[Sue Jouul
) &———; > sewsae jo ired suQ .
\ SweN ‘[es10AsURI) B AQ IND QIR
781 - 8L1 qIve ? ‘m oU1] 01 [o[feted s17 oury -o | soulj [ojfeled om1 uaym pauLIoJ ssjdue Afnusp] o
»
\ A
w ‘.
b T saul|
remorpuadiad om], »
LLT 74 p  soul] [o[eied oM, « 'soul] uno9sIAuUI
\ % aweN 'q pue ‘repnorpuadiad ‘jojreied Ajnuapy -q
2
< v N > 1Wa0e(py «
¢ Z 1 [BOILIOA o
Areyuawoidwo) «
‘Kreyjuowrsjddng ‘sKe1 pue ‘syuowidas auij ‘saul] unoasisyul
9L1 ‘SLI eIV aIe ey} sojSue Ayjuap] ‘e Aq psuLio} so[Sue 29qLIOSIp pue AJuusp] ‘e
J0jedrpuy
SISIIXT unmLLIn) 101 9[qe 2q [fIm Judapms 9y J,
Chliml A8 | ANels sajduwexy SulAjiae) (8)2A1392(q O reUONOINIISU]
AIejunjoA

‘s192(qo jo uonow pue ‘uonisod ‘az1s ‘adeys nogqe swojqoid SA[0S PUE ‘UOSEAI ‘9qLIISIP
01 saInS1J OLIJSWO09S [RUOISUSWIP-IIY} pue *-0m] *-auo Jo sanuadoid sy Ajdde 03 Ayjiqe dy3 SjenSUOWAP [[IM JUSPMIS Y, 80D

S2an31j J1W0ds) aueld IIIA LINA




14!

061

681 ‘881

L81 —¥81

€81 -8LI

LA L4

BIde

q1dc

Qzve

oy

9 D w Y
“JOMSUR INOA Ansnf
a 0c "TR[IWIS aIe JHV pue
DEVV Ioyioym [o L,
478 —a 4

v\i
< S »

c |1

‘s9[Sue 1o} 19410 93 JO Yors Jo
oInsegaw! 3y} put 8T SIC7
JO aanseaw ay) ‘werSeIp ay uj

wo g
S Y
L *19QUINY S[OYM 1SIIBU
wo X 3y} 01 punoy -aesnuajodLy
oS¥ Y1 JO 2INSEIUI ST} SUIULIAA(] *
A\
Z o X DO ‘ sy3uoy
o/ =06 opis Suissiu oy pue
oS 1 .6 somsesw dSue Suissiu
oy pul “yuenISuod
A d 9ie X AZV PUe DYVV

-osnuajodAy oy3
pue s39] a1 usomiaq diysuone[ar sy} sqLISIP
pue ssjsuewn Jysu jo sued oy Ajnuopy 3

‘soIn31J Jueniguod
pue Jefurs juasaida pue ‘oquISIp ‘Amuap] J

-sured Surpuodsaiiod 1oy
pue suo3Ajod rejruuis 9qLIOSIP pue AJusp] 2

‘sAel pue ‘syuswidos auIj ‘soul|
Sunoasiaul Aq paurioy s9[Sue 0] SaInseaw
o[3ue SuISSIUI QUIULISIAP puUB AJNUap] °p




Sl

761 ‘161

10T
‘QIOT ®1DT

LA 44

*10J0381q 3[3ue o)
yonnsuod pue 1aded 1oyoue uo Hyg 9fdue Ado) 1

{°13ue yyS1o 3] Jo aInseaw
oyl S1I1BYAM, “,8€1 2Inseaw
[or2 SI2Y10 1Y) pue ,O¢]
aInseaw yoea so[due ay) Jo
Ioj ‘umoys uogeloo ap up Y

"S[00} UOTONIISUOD
Jo Kotrea e Sursn saingiy oL3oW0dT JONNSUOD)

'suo3Ajod Jo sojSue JoLIAIUI Y] JO WnS
a1 Suisn arnseow aue SUISSIW B SUIULIAIS(




91

w Ol
"YIuL) 1S9IB3U .
33 03 punoy ‘wisud ayy ) -wisuid ren3uein pue renSueioor
961 PIOS JO SWN[OA 3} AIRMI[E) D © JO SWN[OA Y} SUIULISIOP PUB AJBUINS O
S€
? \
(X0q 9y} Jo 90BLNS
a1nus oY) Jured o) papasu are SpIJOS SIoWoaS
<61 qQID€ Jured Jo 1995 arenbs Kuew Moy -q JO BAIB Q0BJINS SUIULISIOP pUB AJeWINSg °'q
wo P
H
\ wo g n.\ .
. [ua) 1saresu ‘sfesore[Lpenb
b6l — €61 3 t0)3 oy 03 punoy ‘weidopa[reied oy} JO BaIR oY) AJBMO[ED) "B JO BOIE O[) SUIULISIOP PUB ABUINST B
10)edIpu]
SOSIIXH wnmLLIn) 0] 9[q®. aq [[IM JuUapnis Y |,
sondeld ae)s sopdurexy SuijLrer) (s)2an23lqQ reuononysuy
AxejunjoA

pue

‘aInseaw SuruiuLIAlep 10J £3ojouyo9)
‘s100) ‘sanbruyda) Jo Ayourea e Ajdde pue ‘sytun pue sanqle AJIuspl 01 AJjiqe Y} SJEXSUOWAP [[IM JUSPMIS 3, :[ecH

JudwRINSBIIA ui suonedniddy X1 LINN




L1

00T ‘661

861 ‘L61

qQzoe

L1401

(dew oy
U0 9q SSNI0 0M) 3 [[1m Uede Jej MOy ‘SO[IW GT ”E.”a
O[OS B Sasn SANID ﬁoa Suimoys dews e j| ‘uede sopiw

0ST moqe a1e D uolurysepy pue A1 310 X moN

(1°pout 9y st

y31y moy ‘3uof ,9¢ !
[opowt 2y} j| -aamoid
9y} u1 380q 24} JO [apoul
9[eos e SuIp[ing st Aue]

"3[eds ® pue Juimelp Juisn
sjutod Om} U29M1aq DURBISIP Y] UTULIAI(]

"3[eos & 3uisn
21ng1} v 10} SUOCISUAWIP SUISSIW JUIULIAIAJ







PRACTICE
PROBLEMS







Al

PRACTICE PROBLEMS

fue—y

. Simplify
25+5%x5+8-5

A 4 B. 28 C. 3 D. 8

N

. Simplify
S5x11+2-10+2
3. Evaluate v’ if v=5.
A. 125 B. 15 C. 8 D. 243
4. Evaluate ¢* if c= 4.

5. Find 3° + 4°.

A. 91 B. 18 C. 21 D. 108
6. Simplify +49

AT B.70  C.07 D. 49
7. Which is equivalent to 67

A. Vo4 B.+36 = “C.42 D. /49

8. The square of a number is 169. What is the number?

9. 27 is between what two consecutive whole numbers?

A. 26 and 28 B. 4and 5 C. 6and7 D. 5and 6
10. Write 930 in scientific notation.
11. Write 62,000 in scientific notation.

12. Solve. Write the solution in simplest form.

4 2
—_———=X
15 9
a2 B. L c. 2 D. &
45 4 45 24

19



PRACTICE PROBLEMS

Solve. Write the solution in simplest form.

5 1
13. y=———
Y76 12
A. 3 B E2 C. — D. n
4 72 1 12
14. L =X
12 8
15. Add. Write the sum in simplest form.
1i +38 L
5 2
1 5
A. 6= B. 9— C. 10 D. 10—
7 7
16. Subtract. Write the difference in simpleét form.
L 2
7 9
A. 1——2— B. Ii C. z D. 3
21 63 63 63
17. Multiply. Write the product in simplest form.
1 3
—x—
4
A. 3 B. L C. 32 D. 24
32 6 3

18. Solve. Write the solution in simplest form.

20

10



PRACTICE PROBLEMS

19. Multiply. Write the product in simplest form.

1—1—-x4-2-
4 3

Divide. Write the quotient in simplest form.

20. i—ﬁ
9 8
A 2 B. 2 c.2 D. S
9 4 81
21. -2——-—8—
9 7
22. 1-1—+3-1—
2 3
A. —9— B. 5 C. 3—1— D 2
20 2
23, 2§+4-7—
8 9
24. Evaluate 8¢q + 97 when g =2 and » = 3.
A. 11 B. 5 C. 17 D. 43
25. Evaluate 3v—wifv=9and w = 10.
A. 37 B. 17 C. 3 D. 21

26. Evaluate 5t +uifr=7 and u= 5.

1 . . 7 . .
27. Mandi has 3 cup flour in one container and 3 cup in another container. About how much

flour does she have in all?

A. 1cup B.3 —;-cups C. 4 cups D. 3 cups

21



PRACTICE PROBLEMS

28.

29.

30.

31.

32.

33.

34.

1 .
Waymond cut 6 5 feet off a 9 il(-)— foot board. About how long is the piece of board that was
left? i

A. 2 feet B. 3 %feet C. 4 feet D. 3 feet

Kira’s muffin recipe calls for 3/4 cup of sugar. About how much sugar does she need to
triple the recipe? ' '

1 ,
A. 2 cups B. 5 cups C. 3 cups D. 4 cups

_ - 5 .
About how many g yard pieces of material can Geoff cut from a 4-6— yard piece of

material?
A. 5pieces B. 4pieces C. 2pieces D. 3 pieces

Cristina had $55 to spend on camp supplies. She decides to buy a flashlight for $5.95, a
sleeping bag for $19.05, bug repellent for $2.19, and suntan lotion for $5.89. Which
additional item will she have enough money to buy?

a pair of shorts for $25.95

a backpack for $32.98 ,

a pair of hiking boots for $32.05
a T-shirt for $20.59 ‘

oSaQw»

The Martinez family spent $2,600 on their 9-day vacation. Which is a reasonable estimate
of the average amount of money they spent each day?

A. $350 B. $200 C. $300 D. $250

The Video Store is selling a select group of videos for $12.99 each. Which is reasonable for
the greatest number of videos that can be purchased for $55?

A. 2videos B. 4videos C. 5videos D. 3 videos
Drew earns $453 a week. He is paid”' every 4 weeks. He expects to get a raise of $24 a week

this summer. Which is a reasonable estimate of the amount he will be paid every 4 weeks if
he gets the expected raise?

A. $1,900 B. $1,500 C. $1,800 D. $1,600

22
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35. Starla has $120 to spend on computer supplies. She decides to buy a printer cartridge for
$19.99, 2 boxes of disks for $15.89 each, and a mouse for $49.19. She thinks she will have
enough left over to buy a keyboard for $38. Does this seem reasonable? Explain your
reasoning.

36. Multiply: 0.043 x 10,000

37. 845 x0.01 =

A. 845 B. 845 C. 845 D. 0.845

38. Evaluate 2°.

39. Use a calculator to determine whether the sentence is true or false.

40. Evaluate y2 ify=9.

41. Write 3,530,000 in scientific notation.

A. 353 x10°
A. 3.53 x 10°
A. 353 x 10*
A. 0.353 x 10’

42. Write the number in scientific notation.

The mean distance of Mercury from the sun is about 36,000,000 miles.
Source: The World Almanac and Book of Facts 1999,

A. 36 x 10°
B. 3.6 x 10’
C. 0.36 x 10®
D. 3.6 x 10°

43. Find the next number in the seqﬁence.
48,72,90...

44. Identify the sequence as arithmetic, geometric, or neither.
2,4,6,8...

A. neither  B. arithmetic C. geometric
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PRACTICE PROBLEMS

45. Determine whether the sequence below is geometric, arithmetic, or neither.
4,12,20, 36...
46. What number is next in the sequence?

90, 88, 86, 84, 82,

A. 79 B. 80 C. 81 D. 84
47. Study the pattern below. What are the next three numbers in the pattern?
or  ees
[ ] [ N e 00
1 4 9
A. 14,19,23
B. 15,21,27
C. 16,25,36
D. 12,15,18

48. Find the mean of the data.
33,21,27,24,17,37,38, 17
A. 21 B. 26.125 C. 26.75 D. 255

49. So far in Spanish class, your test scores are 84, 85, 80, and 71. What score do you need on
the fifth test to get an average or mean of 827

A. 80 B. 88 C. 90 D. 91
50. Find the median of the data
3,38,34,4,37,9, 26, 8, 36

23.8333
21.6667
26

17.5

oowp

51. Which set of numbers has a median of 8.5?

19,20, 17, 14, 10, 19
15,13, 16,8, 10,7
11,6,9,10,5, 12
9,14,7,8,5,12

Sowy
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52. Given the following colors, find the mode.
red, blue, black, white, white, white

53. Allen’s quiz scores this quarter on the ten quizzes he has taken are:
18, 14,19, 17, 14, 18,19, 17, 14, 12

Calculate the mean, median, and mode of the quiz scores. Which should Allen use to
describe his performance to his parents?

54. Find the range for the set of data. Choose an appropriate scale and interval for a frequency
table.
18,22,11, 5,10, 15,6, 7, 18, 35, 31, 29, 22, 10, 7

55. Maria made the graph below to show the cost of the pizza orders on Monday evening.

Pizza Orders

24
20
16 ' »
12 44

Cost ($)

T2 3 45 6 7 8 910
Order Number
How many orders cost $16 or greater?

27 orders
3 orders
8 orders
1 order

o oWy
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56. The manager of The Music Experience made the graph below to show the sales of tapes and
CDs from 1995 to 1999.

Music Sales

300

200

Sales
(thousands
of dollars) 100

0 Tapes
m CDs

0 T M“:Y; T r N . v
1995 1996 1997 1998 1999

Year

In what year was the difference in sales the» greatest?
A. 1998 B. 1997 C. 1996 D. 1999

57. The line graph shows Lyndia’s monthly earnings for January through July. What is a good
prediction for the amount Lyndia will earn in August? ‘

Lyndia’s Earnings

600 - /J
Amount 400 / N
Earned (§) /
200 N
0
J F M A M1JT J
Month
A. about $600
B. about $400
C. about $350
D. about $200
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58. The scatter plot shows the number of T-shirts sold by The Shirt Makers their first 10 years in
business. Predict the number of T-shirts that will be sold in the eleventh year.

T-shirt Orders

600
500

400 2
Number 300

Sold 200

100
0

012345678 91011
Year

59. Yvette made the following stem-and-leaf plot of the high and low temperatures for 10 days.

Lows Stems .| Highs
7210 3 89

973 4

730 5 6989

‘ 6 01538
0[3=30"F 3|8=38F

How much greater was the highest temperature than the lowest temperature?
A 13° B. 31° C. 38° D. 5
60. Make a stem-and-leaf plot for the following data.

36,2, 10, 13, 25, 32, 35,7, 10, 28, 9,34, 8, 16
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61. The bar graphs show the percent of customers who prefer different colors of T-shirts. Which
statement describes the graph that could be considered misleading?

Graph A /" Graph B
100 100

80 ‘
Percent of "~ Percent of

Customers 60 ‘Customers SQ

<

g 2§ E
A & g8 £
= ¢

A. Graph A because of the change in the vertical scale.
B. Graph A because of the vertical scale includes 100.
C. Graph B because of the change in the vertical scale.
D. Graph B because it does not show the correct percents.

62. Rolinda’s first five history test scores are 91, 91, 60, 65, and 68. What misleading statistic
could Rolinda use to verify the claim that she is earning a good grade in history?

A. the median of 68
B. the range of 23
C. the mean of 75
D. the mode of 91

63. Raul is looking for a job. Five erﬁpldyees who hold the same job Raul is considering
currently earn $6.50, $7.00, $8.00, $9.50, and $9.50 an hour. Which statement is
misleading? . :

A. The average hourly wage for this job is $8.10.
B. Most employees with this job earn $8.00 an hour or more.
C. The average hourly wage for this job is $8.00.
D. The average hourly wage for this job is $9.50.

64. The line graphs show the money raised by the Harris Middle School baseball team in
January, February, and March. Which graph could be misleading? Explain.

Graph A Graph B
400 : 300

Money // B Money . /

Raised 20 Raised 200
&) ’ $) /
0 . 100 ‘/ 4
S ry . ey
¥ & F 5 g &
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65. Write as an integér: a loss of ten pounds
A. -10 B. 5 C. -5 D. 10

66. Find the opposite of 4

A. —l B. 4 C. l D. -4
4 4
67. Evaluate | 13 |
1 1
A. 13 B.-—— C. — D. -13
13 13
68. Evaluate |w| if w=-11.
A. 11 B. -11 C.———L D. L
11 11
69. Compare
9 O -1
A = B. Not Given C. > D. <

70. Use =, < or > to make the following statement true.
4 3

71. Which of the following statements is false?
A. -9<3 B. 9>-3 C.3>-9 D. -3>9
72. Is the statement |-2| < | 8| true or false?

73. Write the integers 5, -3, 13, 11, 1, in order from least to greatest.

5,-3,13,11,1
-3,1,5,13, 11
-3,1,5,11, 13
13,11,5,1,-3

SOwp

74. Arrange the following integers in order from least to greatest: 0, 3, -4, 6, -5, 5, -3

29
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75. The chart below shows the average temperature on January 28 for five towns. Order the
towns according to average temperature from warmest to coolest.

Average Temperature ('F)
January 28
Bender 1
Doeville -8
Hermiton | 5
Rapids -5
Weaver —-12
A. Hermiton, Bender, Rapids, Doeville, Weaver
B. Rapids, Doeville, Hermiton, Bender, Weaver
C. Doeville, Hermiton, Weaver, Rapids, Bender
D. Weaver, Doeville, Rapids, Bender, Hermiton
Add.
76. 14 + (-10)
A.-24 B. 24 C. 4 D. 4
77.-17 + 10
Subtract.
78.-12 - (-10)
A.22 B. 2 C. -2 D.-22
79.-10 - (-—4)
80. 25 - (-10)
Multiply.
81.-3¢(-2)
A. -1 B. 6 C.-5 D. -6
82.-8 ¢ (-9)
Divide.
83.-72+9
A. 8 B. 1 C.-8 D —-1-
8 8

30
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84.-16 + (-8)
85. Evaluate xy ifx=15and y = -1.

86. Evaluate x —yifx=3 and y =-12.
87. Which is the correct algebraic expression for the following phrase?

the difference of x and 6

A. 6x B. 6—x C. x—6 D.%

88. Which is the correct algebraic expression for the following phrase?

twice as many pencils

A p+2  B.2p c,g D. 2+p

89. Which is the correct algebraic expression for the following phrase?
seven increased by y
A T+y B.y-7 C 7y D. 7~y
90. Which phrase can be written as the following algebraic expression? )
p—10
A. the difference of 10 and p
B. 10 less than p
C. plessthan 10
D. p greater than 10

91. Which is the correct algebraic equation for the following sentence?

Six less than twice a number is 12.

A 2n-6=12

B. 6+2n=12

C. 6-2n=12

D. L_¢=12
2
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92. Which is the correct algebraic expression for the following sentence?

The number of pages increased by six is 14.
A 6p=14
B. p—14=6
C. 6-p=14
D. p+6=14

93. Which sentence is represented by the following algebraic equation?
3n+4=2

Four less than three times a number is two.
Three more than a number plus four is two.
Three greater than a number plus four is two.
Four more than three times a number is two.

Cawpy

94. Geoff says he is thinking of a number. He says if he multiplies his number by 6 and subtracts
15, the result is 63. What is Geoff’s number?

A. 78 B. 13 C. 363 D. 63 -

95. The Pizza Palace sold twice as many pizzas on Monday as on Tuesaday. On Wednesday,
they sold 15 more pizzas than on Tuesday and 35 fewer than the 86 pizzas they sold on
Thursday. How many pizzas did they sell on Monday?

A. 72 pizzas ‘
B. 212 pizzas
C. 106 pizzas
D. 132 pizzas

96. Which of the following is equivalent to equation 3x — 6 = 37

A. 3x=9 ~ B. x=-1 C. x=2

97. Which of the following is equivalent to equation -)-26- +7=-3

A x=5 B. x=-20 c.52-=4
Solve.
98.g+2=-5

A. -6 B.-7 C. 2 D.-14
99.x +8.3=5.1
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100. ~24=m -9
A.-33 B. 216 C. 20 D.-15
101. =21 =m —1

102. x-2.1=17.6
103. 7h=-98

Solve.
104. 6.3=0.7y

A. 09 B. 9 C. 8 D. 44.1
105. 3x-12=6

A 2 B.-6 C. 9 D. 3
106. 2x+2=-10

A 6 B. 8 C.—4 D. 4
107. -3x+3=15

Complete each table.

108. y=4x
x |y (*x, »)
2
1
0
-1
109. y=2x-1
x |y > )
-1
0
1
2
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110. The table below shows the water depth of a pond in winter over time.

Water Level
Time(week)|  Depth

| 1.88

2 2.12

3 3.00

4 425

5 5.00

Graph the ordered pairs and make a statement about the trend that can be seen.

B.
A
5S4 o
4~ ®
Depth 34 « - @ -
(iny 51 * .
14 .
123 45 | 1 2345
Time(week) - , Time(week)
The depth of the water ‘ The depth of the water
increases over time A decreases over time
D A
5 [ S . - . ™
44 - - ¢
Depth 3+ - . &
(in') 24 0 ©
1-.. . .
: >
1 23 4 5 < ) 1 23 45
Time(week) ; Time(week)
The depth of the water . . The depth of the water
increases over time . decreases over time
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111. Which of the following tables matches the graph?

Y
»
4
4
4
»
d
74
»
I
A. B
x|-4|-2]|11|4 x|2]0(2]|4
yl|l-2]10]2]4 y|-4|-2|1]4
C D.
x0369 x-2147
yl2|1]a]7 o I I I

112. Which of the following graphs is the graph of the pairs of numbers in the table?

x{0]|3]6]09
yl2111417

A. . B. ‘ X
%x —%x
C. 4 D. 1
lk‘x %—x
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113. Describe a situation that might be represented by the function graphed below. Use a verbal
description, a table, and an equation as part of your answer.

A

Distance A

Time
114, Simplify 3x+7+x -y

115. Simplify 4y +3x +2xy —y

116. Solve and graph the solution set on a number line.
3x=12

117. Solve and graph the solution set on a number line.
2x+5> 8

118. Graph the following on a number line.
1 13

ren
119. Which of the following is the graph of the point C(-4, -3)?
y y
A. B.
X x
oC Ce
C. y D. /
eC
X x
Ce
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120. What are the coordinates of point 4?
y

A

Al (-2,-1) B. (-2,1) C. 2,1 D. (1,-2)
121. In which quadrant is the point with the coordinates (-1, -3)?

A. fourth quadrant
B. third quadrant
C. first quadrant
D. second quadrant

122. Name the coordinates of the points A, B, C,‘and D.

A3, -3), B(1, 2), C(-1, 5), D(-4, -5)
AQ3,-3), B(2, 1), C(-1, 5), D(-5, -4)
A(-3, 3), B(2, 1), C(5, -1), D(-5, -4)
A(-3, 3), B(1, 2), C(5, -1), D(-4, -5)

oOwp

123. Complete the function table. Then graph the function.

y=x-3
X|x=3 [y
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124. Which shows the graph of y = -3x?

y
y
A. . B. 57‘
/ \‘
¥
7 L 7
y y
C. A D A
Ead
- __( I~
I > * R -
Vel 1)

L 2  ;

125. Graph: y=-x -4

126. a) The cost of a school banquet is $44 + 5n, where n is the number of people attending.
Make a table of values.

b) Draw a graph of the equation,
¢) What is the cost for 15, 35, and 75 people attending?

127. Describe a situation that might be represented by the function graphed below. Use a verbal
description, a table, and an equation as part of your answer.

3

N\

N\
\

Distance N

Time
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128. Which graph shows the triangle with vertices (-6, 3), (-3, 3), and (-5, 5) and its image after
a reflection across the x-axis?

A y B. y
A A
/ /
>~ «1 »
7 [ . 2
y y
C A D. [ A
/ 71 /
¥ x > x
/

ly

129. Which graph shows APQR with P(-3, 2), Q(-2, 2), and R(-2, 4) and APQR translated right 6
units and down 5 units?

Sy : y
A. % B. A
/
/ T~y
% » ¢ » *
A A
C y D. y
A A
H bx % » *
N
v A 4
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130.

131.

132.

133.

- 134.

135.

136.

Graph triangle POR with P(0, 7), O(3, 6), and R(,l; 1). Then graph the image ofa
translation 2 units to the left and 4 units down.

Ulrike and Rico are designing a flag for thelr school Ulrike started the design as shown
below.

y
A
< 0/‘-“\\\\ i
/
/
A 4

Rico plans to use three different transformations to complete the design that Ulrike has
started. Show how Rico can complete the design. Descnbe each transformation and give
the coordinates of each of the ﬁgures

Identify those figures below that have symmetry For those that do, draw the lines of
symmetry.

Find a fraction which simplifies to -.

2
Express 3 as a percent.

A. 2% B. 10% C. 40% D. 400%
Express 44% as a fraction in simplest form.

A2 gl cZ p 2
50 25 50 100

Express 75% as a fraction in simplest form.
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137.

138.

139.

140.

141.

142.

143.

144,

145.

Write 0.7 as a fraction in simplest form.

A2 B 2 c.< D. —
1 7 7 10

Write 0.13 as a fraction in simplest form.

A= B c-~ D13
10 100 100

Express 0.529 as a percent.
A. 5290% B. 5.29% C. 0.529% D. 52.9%

Write 0.02 as a percent.
; 3 ;
Write 22% as a decimal.
A. 275 B. 0.0275 C. 0.275 D. 275
) 1
Write 5 2 as a percent.
A. 525% B. 21% C. 0.0525% D. 20.01%

) 4
Express the fraction as a percent. =
200

A. 8% B. 0.008% C. 2% D. 0.02%
What is the unit rate for driving 1,200 miles in 4 days?

A. 600 miles per day
B. 300 miles per day
C. 800 miles per day
D. 400 miles per day

Raul uses 4.8 pounds of ground beef to make a casserole that serves 15 people. How many
pounds of ground beef will be used if he makes the casserole to serve 20 people?

A. 6.4 pounds B. 62.5 pounds C. 30.2 pounds D. 9.8 pounds
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146. Mandy sold 50 of the 60 dolls she made. What percent of the dolls did she sell?
A. 12% B. 10% C. 50% D. 83 %%

147. What is the unit rate for 360 miles in 6 hours?

A. 50 miles per hour

B. 90 miles per hour

C. 60 miles per hour

D. 40 miles per hour
148. What is 60% of 270?

A. 272 B. 162 C. 217 D. 107
149. What is 38% of 507

A, %—;— B. 19% C. 19 D. 190

150. Which is the correct equation and solution for the following problem?
Find 18% of 45.
A. P=0.18 ¢ 45; 8.1
B. 45=18+B;2.5
C. P=18+45;810
D. 45=0.18 * B; 250

151. What is the percent of change of the membership of a club if the membership goes from 56
members to 70 members?

A. 80% B. 25% C. 20% D. 75%

152. Carin earned a grade of 78 on her first math exam and a 90 on her second math exam.
What was the percent of increase in Carin’s grade?

A. about 87% B. about 13% C. about 85% D. about 15%
153. What is the sales tax to the nearest cent on a $69 jacket if the rate is 7%?

A. $0.07 B. $48.30 C. $4.83 D. $7.00
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154.

155.

156.

157.

158.

159.

160.

161.

162.

163.

164.

What is the total cost to the nearest cent of a $27.99 shirt if the sales tax rate is 8 %%‘?
A. $2.45 B. $30.44 C. $46.00 D. $48.48

Find the total cost to the nearest cent of a $29.99 sweatshirt if the sales tax rate is 5%.
What is the amount of discount on a $78 coat if the discount is 15%7?
A. $66.30 B. $63 C. $11.70 D. $15.00

What is the percent of discount to the nearest percent if the regular price of a camera was
$89.90 and the sale price is $78.507

A. 87% B. 85% - C. 15% D. 13%
What is the simple interest for a principal of $450 invested at a rate of 8% for 2 years?
A. $360 B. $18 C. 16 D. §72

What is the simple interest to the nearest cent on a credit card balance of $1,500 at an 18%
interest rate for 6 months?

A. $540 B. $135 C. $108 D. $270

Thaddeus deposited $650 in an account that earned 8.5% simple interest. How much
interest had the money earned by the end of three years? '

Find the circumference of a 'cir;:le whose radius is 3 in. Use 3.14 for .

Find the circumference of a circle whose diameter is 7 cm. Use & = 3.14.

A. 10.14 cm B. 21.98 cm C. 10.99 cm D. 43.96 cm
Find the area of a circle whose radius is 45 cm. Use 3.14 for m.

A. 12717 cnd® B. 3179.25cm’  C. 282.6 cm® D. 6358.5 cm”

Find the area of the circle whose radius is 3 cm. Use 3.14 for x.
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165.

166.

167.

168.

The table shows the US population by age in 1990.

US Population, 1990

Age (years) | Number (millions)
Under 5 18.4
5-20 57.0
21 —44 95.8
45 - 64 46.4
65 and over 31.2

Make a circle graph of the US population in 1990.

There are 5 red marbles, 4 white marbles, 3 blue marbles, and 8 green marbles in a bag.
Suppose you select one marble at random. What is P(white)?

B. L C.
16

A. D

1
"8

| e
N

Reba and Adam tossed their coins 30 times and got heads 16 times. What is the
experimental probability of tossing a head using Reba and Adam’s results?

I e p. 2
8

A Ea_—
4 15

B

N

Jamila spins a spinner like the one below 25 times. It lands on 3 five times. What is the
experimental probability of spinning a 3? What is the theoretical probability of spinning a 3?

169. A bag contains 6 yellow, 8 blue, and 2 red marbles. Two marbles are drawn, but the first

marble is not replaced. What is P(both yellow)?

A = B. C. D.2
64 24 4

[ eR W
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170

171

172

173

174

175

176

. Suppose you spin the two spinners shown below. Make a tree diagram and list the
outcomes. What is the total number of outcomes?

R
\ -/

. What are the total number of outcomes when 2 coins and a number cube are tossed?

A 6 B. 12 C. 8 D. 24

. A coin is tossed and a number cube is rolled. What is the probability of getting tails and a
number less than 3?

AL B. L c.2 D. 1
30 5 5 6
. At a banquet you have a choice of three different salads, four different entrees, and three
different desserts. How many choices do you have?
A. 10 B. 36 C. 13 D. 15
. Use the Counting Principle to find the total number of outcomes when 2 coins and 2
number cubes are tossed.
. Which of the following is a right angle?
A. B. C. D.
N\ ! ——
. Classify the angle below.
A. right B. acute - C. straight D. obtuse
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PRACTICE PROBLEMS

177. In the figure, name (a) two parallel lines and (b) two perpendicular lines

In the figure below, m||nz and r is a transversal. If m£2 = 45°, find the measure of each
angle.

178. £4

179. 45
180. 27
181. 28
182. £6

183. Find the value of x in the figure. . -

184. Which statement is true about the fbllowi,r_xg,pair of polygons?

8 om 4 cm

5cm

10 cm
.. 4 5
A. They are similar because — =-—
8 10
. 4 5
B. They are not similar because 0 §

» 4 2

C. They are similar because —— =—
10 5

5

10 -
D. They are not similar because )
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185. Tell whether the following pair of polygons is similar. Justify your answer.

6
e 4 cm

5cm

7 cm

186. Given AABC ~ ADEF, solve for x and y.
A

16 }
Y 9

B C E g F

x=10.7,y=14.5
x=11.7,y=14.5
x=11.7,y=13.5
x=10.7,y=13.5

oSowp

187. The two rectangles are similar. Find the width of the smaller rectangle.

8m 17.6 m

1452 m

Tell whether each pair of polygons is congruent or similar. In each, find x and y.
188.

18

189. 5 {
120°
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PRACTICE PROBLEMS

190.

191.

192.

193.

194.

195.

196.

In the right triangle, identify the hypotenuse and find its length. A
5
" 12
Find the sum of the measures of the interior angles of a pentagon.
Find the measure of an interior angle of a regular hexagon.
Find the area:
[}
1
2.6 y
18 yd
A. 62yd* B. 118.8 yd* C. 59.4 yd D. 24.6 yd*
Find the area:
4.5 km
1
{
15 km
i
i
ul
12.5 km

A rectangular prism is 7 cm long, 7 cm wide, and 3 cm high. Find the surface area of the
prism.

Find the volume of the rectangular prism.
ﬂl m
12m

A 32m’ B. 518m’ C. 228 m° D. 114 m®

19m
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On a map, the scale is 1 inch:150 miles. For each map distance, find the actual distance.
197. 3 inches

198. 8 inches

1
On a scale drawing, the scale is 2 inch:1 foot. Find the dimensions of each room in the

scale drawing.
199. 15 feet by 25 feet

200. 20 feet by 12 feet
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ANSWER KEY

1. B 39. false
2. 52 40. 81
3. A 41. B
4. 256 42. B
5. A 43, 135
6. A 44, B
7. B 45. neither
8. 13 46. B
9.D 47. C
10. 9.3 x 10° 48. C
11. 6.2x 10" 49. C
12. C 50. C
13. A - 51. D
19 52. white
14. 24 53. mean = 16.2, median = 17, mode = 14.
15. D He should use the median because it is
16. D the highest
17. A 54. range = 30; scale: 5-35, interval: 5
1 55. C
18. 56. D
5 57. A
19. SE 58. about 500 t-shirts
20. D 59. C '
5 60. 1{0=10
21. T Stem | Leaf
55 A 0 2789
T 1 0036
23, —— 2 58
344 3 2456
24. D 61‘ A
25. B €7 D
26. 40 3. D
27. A 64. Graph B could be misleading because of
28. A the change in the vertical scale.
29. C 5 A
31. D 67. A
32. C 68. A
33. B 9. C
34. A 70. 4<-3
35. No; $20 +2($16) + $50 = $102 and 1D
$120-$102 =318 < $38 T true
36. 430 TR
37. A 74. -5, 4, 3,0, 3, 5, 6
38. 32 75 A
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ANSWER KEY

76. C 110. C
77. -7 111. D
78. C 112. B
79. —6 113. See Appendix
80. —-15 114. 4x—-y+7
81. B 115. 3y +3x + 2xy
82. 72 116.
gig 12 9 6 -3 0 3 6 9 12
85. ~15 117.
86 15 S0 o o
T C -10 -5 0 5 10
88. B 118.
89. A 4+—t—1—o—b—4—>p
90. B o + 132
91. A 4 2 4 4
92. D 119. A
93. D 120. B
94. B 121. B
95. A 122. D
96. A 123.
97. B y=x-3
98. B x| x-31y
99. —3.2 4 [-4-st-7
100. D 0 0~3f-3
T01. —20 111-31-2
102. 9.7 Y
103. -14
104. B
105. B
106. A X
107. 4
108. (Answer is just a suggestion).
x [y (x )
2 18 (2,8)
1|4 (1,4)
010 (0,0)
-1 {4 (-1,-4)
109. (Answer is just a suggestion) 124. B
x 1y [y
-1 ] -3 (-1,-3)
0 | -1 0, -1)
1 1 (1, 1)
L2 13 1 (2. 3)
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ANSWER KEY

125. 131. See Appendix

y 132. See Appendix

133. Answers will vary. Sample: 356—

134.

135.

136.

137.

138.

139.

RO O @m0

>~

140.

A 141.

2 142.
T 44T 5 143.

30 194 L

50 204 146.

100 544 147.

b) 148.

500 o | 149.

450 150.

400 : 151.
350

300 152.

250 153.

200
150 ; 154.

100 ’ -1 155. 1.49

50 156.

0 { IO (RO SOV N N N | L] : >

Tttt
10 20 30 40 50 6070 80 90 100 157.

158.

o~ o] lw] [@lh I°*l [l lw] =l g lpl levl (@l lw] kg Rocl {@l @] or

c) $119,$219, $419 159.

127. See Appendix 160. $165.75

128. B ' 161. 18.84 in

129. A 162. B

130. 163. D

164. 28.26 cm”

165. See Appendix

166.

167.

168.

169.

170. 8o ;
1,1;1,2;2,1,2,2;3, 1;

171. D
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172.

173.

174.

175.

176.

177.

llm, wlt

178.

135°

179.

135°

180.

45°

181.

135°

182,

45

183.

108°

184.

185.

186.

187.

6.6 m

188.

similar, x =13.5, y =90°

189.

congruent, x =24, y = 120°

190.

hypotenuse AC, 13

191.

540°

192.

120°

193.

C

194.

42.5 km"

195.

182 cm”

196.

C

197.

450 miles

198.

1,200 miles

199.

3 1
3—inby 6=
2 "0y

200.

Sinby 3in
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Appendix

ANSWER KEY

113.  Answers will vary. Sample: A man is driving 75 miles per hour. How many miles does

he travel?

Distance
in hundreds

of miles

Time in hours

127.  Answers will vary. Sample: Kim is riding home on her bicycle. She is 16 miles from
home and she rides at a rate of 2 miles per hour. When will she arrive home?

Distance
in miles

X

Time in hours

55

y =75x

X 75x y

4 754 | 300
8 758 | 600

12 | 7512 | 900

y=-2x+16

x | -2x+16 y
0 | -20+16 | 16
1 |-214+16 | 14
2 | -292+16 | 12




ANSWER KEY

131.  Answers will vary. Sample: First translate the shape 6 units left. Next, translate the
image 5 units up. Then reflect the original shape over the x-axis.

y

AL
T TN

m

B. Symmetry . -,

C. No symmetry
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165.

ANSWER KEY

US Population, 1990

s,

65 and ove

57

Under 5
Ages 5-20
Ages21-44
Ages 45-64
65 and over

27°
82°
139°
67°
45°







